
1 Äåéñòâèÿ ñ ìàòðèöàìè

1.1 Óìíîæåíèå ìàòðèöû íà ÷èñëî

αA = C

αaij = cij

ïðèìåð

2

 1 2 1
3 1 3
1 2 1

 =

 2 4 2
6 2 6
2 4 2


1.2 Ñëîæåíèå ìàòðèö

A+B = C

aij + bij = cij

ïðèìåð  1 2 1
3 1 3
1 2 1

+

 1 3 1
2 1 2
1 3 1

 =

 2 5 2
5 2 5
2 5 2


1.3 Óìíîæåíèå ìàòðèö

A ·B = C
n∑

k=1

aikbkj = cij

ïðèìåð  1 2 1
3 1 3
1 2 1

 ·

 1 3 1
2 1 2
1 3 1

 =

 6 8 6
8 19 8
6 8 6


c11  1 2 1

3 1 3
1 2 1

 ·

 1
2
1

3
1
3

1
2
1

 =

 6 8 6
8 19 8
6 8 6


1 · 1 + 2 · 2 + 1 · 1 = 6

c12  1 2 1

3 1 3
1 2 1

 ·

 1
2
1

3
1
3

1
2
1

 =

 6 8 6
8 19 8
6 8 6


1 · 3 + 2 · 1 + 1 · 3 = 8

1



c13  1 2 1

3 1 3
1 2 1

 ·

 1
2
1

3
1
3

1
2
1

 =

 6 8 6
8 19 8
6 8 6


1 · 1 + 2 · 2 + 1 · 1 = 6

c21  1 2 1

3 1 3

1 2 1

 ·

 1
2
1

3
1
3

1
2
1

 =

 6 8 6

8 19 8
6 8 6


3 · 1 + 1 · 2 + 3 · 1 = 8

c22  1 2 1

3 1 3

1 2 1

 ·

 1
2
1

3
1
3

1
2
1

 =

 6 8 6

8 19 8
6 8 6


3 · 3 + 1 · 1 + 3 · 3 = 9 + 1 + 9 = 19

c23  1 2 1

3 1 3

1 2 1

 ·

 1
2
1

3
1
3

1
2
1

 =

 6 8 6

8 19 8
6 8 6


3 · 1 + 1 · 2 + 3 · 1 = 8

1.4 Òðàíñïîíèðîâàíèå

AT : aTij = aji

ïðèìåð  1
2
1

3
1
3

1
2
1


T

=

 1 2 1

3 1 3
1 2 1


2 Îïðåäåëèòåëè

Ïåðåñòàíîâêè

0)

(
2, 3, 5, 4, 1︸ ︷︷ ︸

)
1)

(
1, 3, 5, 4, 2︸ ︷︷ ︸

)
2)

(
1, 2, 5, 4, 3︸ ︷︷ ︸

)
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3)

(
1, 2, 3, 4, 5︸︷︷︸

)
Òðè ïåðåñòàíîâêè - íå÷¼òíàÿ (

1 2 3 4 5 6 7
5 6 4 7 2 1 3

)
3 < 5, 6, 4, 7 4

1 < 5, 6, 4, 7, 2 5

2 < 5, 6, 4, 7 4

7 < . . . 0

4 < 5, 6 2

6 < . . . 0

4 + 5 + 4 + 0 + 2 + 0

Íå÷¼òíîå ÷èñëî

Îïðåäåëèòåëè ïî îïðåäåëåíèþ (
a b
c d

)
(

a b

c d

) (
a b
c d

)
det

(
a b
c d

)
≡

∣∣∣∣ a b
c d

∣∣∣∣ = ad− bc∣∣∣∣ 3 5
5 3

∣∣∣∣ = 3 · 3− 5 · 5 = 9− 15 = −6

A =

 1 2 3
5 1 4
3 2 5


 1 2 3

5 1 4

3 2 5


 1 2 3

5 1 4

3 2 5


 1 2 3

5 1 4

3 2 5


 1 2 3

5 1 4

3 2 5


 1 2 3

5 1 4

3 2 5


 1 2 3

5 1 4

3 2 5


(1, 2, 3) (1, 3, 2) (2, 1, 3) (2, 3, 1) (3, 1, 2) (3, 2, 1)

1 − 1 − 1 1 1 − 1

detA = 1 · 1 · 5− 1 · 4 · 2− 2 · 5 · 5 + 2 · 4 · 3 + 3 · 5 · 2− 3 · 1 · 3 =

= 5− 8− 50 + 24 + 30− 9 = −3− 5 = −8
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